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Solve each inequality or problem. Write the word under the Sﬁ
correct solution in the box containing the exercise number.

17x+2 >4x +15

210 —-3x 25x +26

than your total cost?

i 8 2(t+5) >4t - 7(t +3)

210 14 — (9t - 2) < -t + 30
11 45 > 12t +3(t-8) - 6

1z 5(8 —2t) <2 +16(4 + t) ts31

14 9(9t — 4) 212(12t - 3)

_4 2 ‘
FRIENDS 15 Suppose you write a book The printer charges $4 per

book to print it, and you spend $3500 on advertising.
x < —4 You sell the book for $15 a copy. How many copies
must you sell so that your income from sales is greater

9 —4(3t - 9) > 8(-8 — 1)

t=-1
STARTED

3

13 7(5t — 4) — (2 +15t) < 60
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